
Це моя віра 
=

˝= −×þð¦Þ³Ł¹Č= Ł—Š= ¹Þ³= ×þž³ý³= Ł= ˇ³ŠšÞÞ—Ð= ýš²³ĞÞ—= Ð= −þ₣³Ł=

łþÝþ¹= ¹Łþÿ›= ˇšž¹ýš×²Þþ›= Š³Ğ—I= Čð˛= Š˛Ý˛= ýšÞ—= ¾šÐ= ¹¦ýŁþÝ= Ł—×¦K= ‡—Þ=

−þŁ’Čž³ÿ=ýšÞš= ž= ₣¦¹ÝšÞÞ¦ý¦= ÝćŠ¹şð¦ý¦= Š³Ğ˛ý¦I= Š³Ğ˛ý¦= −×šŠð—ŁI=

¹³₣˛¹Þ¦ð—Ł= ²˛= Þ˛ğ˛Šð—ŁK= ‡—Þ= Šþ−þý˛ł˛ÿ= ž×þž³ý—²¦= ¹šÞ¹= Ž¦²²ČI=

×þž×—žÞ¦²¦=Šþˇ×þ=—=žÝþK=‡—Þ=Ł₣¦²ş=žÞ˛²¦I=Ýćˇ¦²¦=—=−þŁ˛Ž˛²¦=ÝćŠšÐ=

²˛= ¹Ł—²I= Ł¹š= Ž¦ŁšI= ÞšŽ¦Łš= —= ³ČŁÞšI= Šþ¹Čł˛²¦= ł˛×ýþÞ—›= —= Šþˇ×þˇ³²³I=

ŠþÝ˛²¦=²×³ŠÞþğ—I=²Łþ×¦²¦=₣³Šš¹˛I=¹−þŠ—Ł˛²¦¹ş=Þ˛=ð×˛ğš=²˛=ˇþ×þ²¦¹ş=

ž˛=²šI=³=ğþ=Č=Ł—×ćK=

˝=¹−þŁ—Š³ć=×šÝ—ł—ÐÞ³=Ł—×³=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦K=ÈćŠ¦Þ˛=

−þÞ˛Š= ³¹š>= ËþŽÞ˛= ÝćŠ¦Þ˛= Ł—Š= Þ˛×þŠŽšÞÞČ= ý˛ÿ= ŁšÝ¦₣šžÞ³= ¹¦Ý³I=

ŠŽš×šÝþ=Čðþ›=¥=Ł=ÝćŠ¹şð—Ð=Š³Ğ—K=‚³Ğ˛=¥=¾š=Þ˛ÐŁ¦ğ˛=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦I=

—= ››= ¹¦Ýþć=ÿ=Ł—×˛K=‚³ýð¦=²˛= —Šš›I=−Ý˛Þ¦=²˛=ž˛Š³ý¦I=ý×—›=²˛=žÞ˛ÞÞČI=

ÝćˇþŁ=—=−×¦¹²×˛¹²şI=²š×−—ÞÞČ=—=¹ý¦×šÞÞČI=½˛Þ²˛ž—ČI=Þ˛Š—ČI=×þž³ý—ÞÞČ=

—= ¹−—Ł₣³²²ČI= Ł¹š=Þ˛Ðð×˛ğš=³=ýþ›Ð= ¹Ł—Šþýþ¹²—= ¥=¾š= Š³Ğ˛K=˝ð=ýþŽÞ˛=

¹³ýÞ—Ł˛²¦¹ş= ³= —¹Þ³Ł˛ÞÞ—= Š³Ğ—\= Ìþ¹ý—Ğð˛= ¥= Þ˛Ð−š×šðþÞÝ¦Ł—Ğ¦Ð=

Šþð˛ž=²þłþI=ğþ=Š³Ğ˛=—¹Þ³ÿ=²˛=Š˛ÿ=ýšÞ—=Ł—×³>=ÈćŠ¦Þ˛=ýþŽš=Š—Ý¦²¦¹Č=

Ł—×þć= —= Ł¦−×þý—ÞćŁ˛²¦= Ł—×³I= ğþˇ= ³²Łš×Š¦²¦= Þ˛ÐŁ¦ğ³= ¾—ÞÞ—¹²ş=

ÝćŠ¦Þ¦K= ‡—×˛= ×þˇ¦²ş= ÝćŠ¦Þ³= ²Łþ×¾šýK= ‡—×˛= ×þˇ¦²ş= ýšÞš= ð×˛ğ¦ýK=

‡—×˛=ý—ÞČÿ=¹Ł—²K=Ìþ¹ý—¼Þ¦¹ş>=

‡—×—= Ł= Þ˛ÐŁ¦ğ³= ¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦= −×þ²¦¹²þ›²ş= −×¦Þ¦ŽšÞÞČ= ²˛=

Þ˛¹¦Ýş¹²ŁþK= Ì×¦Þ¦ŽšÞÞČ= ÿ= žÝþI= ³²Łš×ŠŽšÞÞČ= Þ˛ÐŁ¦ğþ›= ¾—ÞÞþ¹²—=

ÝćŠ¦Þ¦=¥=Šþˇ×þK=‚þ−þý˛ł˛ć₣¦=ÝćŠČý=−þŁ—×¦²¦=Ł=¹šˇšI=Č=²Łþ×ć=Šþˇ×þK=

-þÐI= ¼²þ= −×¦Þ¦Ž³ÿ= ¹šˇš= —= ÝćŠšÐI= ²Łþ×¦²ş= žÝþK= Â—= žÝþý= ²×šˇ˛=

ˇþ×þ²¦¹şK=ÂÝþ=—ÞþŠ—=Þ˛ˇ³Ł˛ÿ=þý˛ÞÝ¦Ł¦¼=½þ×ýK=ÂÝþ=ýþŽš=þˇ’ÿŠÞ˛²¦=

ŠŁþ¼= ₣¦= ˇ—ÝşĞš= ÝćŠšÐI= ×þž₣¦Þ¦²¦= ›¼= þ¹þˇ¦¹²þ¹²—I= þ²×³›²¦= ›¼= Š³Ğ—=

Ž˛łþć=−×¦Þ¦ŽšÞÞČK=ÂÝþ=ˇ³Ł˛ÿ=¹¦ÝşÞ¦ýI=˛Ýš=Ł—×˛=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=

ÝćŠ¦Þ¦= ž˛ŁŽŠ¦= ¹¦ÝşÞ—Ğ˛= ž˛= žÝþK= ‡—ÝşÞ˛= Š³Ğ˛I= ÝćˇþŁ= Šþ= ÝćŠšÐI=

žÞ˛ÞÞČ=—=ý³Š×—¹²ş=Ł—×³ć₣þłþ=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦=²×—³ý½³ÿ=

³= ¹³²¦₣ð˛¼=ž—= žÝþýI= Čðš= þˇýšŽšÞš= ¹Łþÿć= ˇšžłÝ³žŠþć= ˛ł×š¹¦ŁÞ—¹²ćI=

¹˛ýþž˛ðþ¼˛Þ—¹²ćI= Þš²š×−—ÞÞČýI= Þš³¾²ŁþýI= Þš³Ł˛ŽÞ—¹²ćI=



Þš−þ¹Ý—ŠþŁÞ—¹²ćI=¹Ł˛Ł—ÝÝČýI=ˇšž−š×¹−šð²¦ŁÞ—¹²ćI=Þ¦¾—¹²ćI=ˇšžŁ—×’ČýK=

ÂÝþ=ˇ³Šš=−š×šýþŽšÞšI=Þ˛ÐŁ¦ğ˛=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦=³²Łš×Š¦²ş¹ČK=

˝=Ł—×ćI=ğþ=Þ˛¹−×˛ŁŠ—=ÝćŠ¦Þ³=ÞšýþŽÝ¦Łþ=−×¦Þ¦ž¦²¦I=Čðğþ=ŁþÞ˛=

Ł—×¦²ş= Ł= Þ˛ÐŁ¦ğ³= ¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦K= Î˛¹¦Ýş¹²Łþ= ž˛ŁŠ˛ÿ= ˇþÝćI= ˛Ýš=

ŁþÞþ= −×¦Þ¦Ž³ÿ= ²—Ýşð¦= ˛ł×š¹þ×˛K= fl×š¼ÞČ= ²˛= Þ˛ðÝš−= þˇ³×ćć²ş= —=

ýþŽ³²ş= Þ˛Ł—²ş= ðþłþ¹ş= þˇý˛Þ³²¦I= ˛Ýš= ŁþÞ¦= −×¦Þ¦Ž³ć²ş= Ý¦Ğš=

ˇ×š¼³Þ˛= —= Þ˛ðÝš−Þ¦ð˛K= ÂÞšŁ˛ł˛= ²˛= Łþ×þŽ—¹²ş= ž= ˇþð³= žÝ¦¼= ÝćŠšÐ=

−×¦Þ¦Ž³ÿ=²—Ýşð¦= ›¼I=Þš=ýšÞšK=flšž³ý¹²ŁþI=ˇšžŁ—ÝÝČI=¼Łþ×þˇ¦I=ý³ð¦=

²˛= ¹ýš×²ş= −×¦Þ¦Ž³ć²ş= Ý¦Ğš= ²—ÝþI= ˛= Š³Ğ˛= −×þŠþŁŽ³ÿ= Þš¹²¦= ž=

Ł—₣Þþ¹²—=ý¦Þ³Ýþłþ=³=Ł—₣Þ—¹²ş=ý˛Ðˇ³²Þşþłþ=ýþć=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=—=

Þš=Ł²×˛²¦²ş=ýþć=Ł—×³I=Þš=−þð¦Þš=¹Ł—²K=

‡—×˛=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦=ž˛ŁŽŠ¦=ˇ³Ý˛=—=ž˛ŁŽŠ¦=ˇ³ŠšI=ˇþ=

¾Č= Ł—×˛= ÿ= —= łþ²þŁ˛= −×þð¦Þ³²¦¹ş= Ł= ðþŽÞ—Ð= ÝćŠ¹şð—Ð= Š³Ğ—K= ËþÝ¦=

ÝćŠ¦Þ˛=žŁš×²˛ÿ²ş¹Č=Šþ=¹šˇšI=ðþÝ¦=−×þ¹¦Ğ=−×þ=₣³ŠþI=Š³Ğ˛=Ł—Š−þŁ—Š˛ÿ=

²˛= ýþŽš= −þŠ˛×³Ł˛²¦= ²šI= ğþ= Č= −×þĞ³K= -˛ð= Þ˛×þŠŽ³ÿ²ş¹Č= Ł—×˛= Ł=

Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦K=‡þÞ˛=žŁ˛Ý˛¹ČI=žŁš²ş¹Č=—=ˇ³Šš=žŁ˛²¦¹ş=−þ=

×—žÞþý³I= ˛= —ÞðþÝ¦= Þš= žŁš²ş¹Č= Þ—ČðK= ÈćŠ¦= ¹²Łþ×¦Ý¦= ˇšžÝ—₣= ×šÝ—ł—ÐI=

³²Łš×ŠŽ³ć₣¦=Ł—×³=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦K=‡—×˛=Ł=ÿŠ¦Þþłþ=flþł˛=

²˛=Ł—×˛=³=ˇ˛ł˛²şþ¼=flþł—ŁI=Ł—×˛=Ł=Š³¼—Ł=²˛=Ł—×˛=³=×þž³ýÞ—¹²ş=Ł¹š¹Ł—²³I=

¼×¦¹²¦ČÞ¹²ŁþI= —¹Ý˛ýI= ˇ³ŠŠ¦žý= ²˛= —ÞĞ—= ×šÝ—ł—›= žŁ—ÝşÞ¦Ý¦= Ł—Š= žÝ˛=

ˇšžÝ—₣=Š³Ğ=²˛=³²Łš×Š¦Ý¦=Ł—×³=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦K=-þý³I=

¹−þŁ—Š³ć₣¦= ýþć= ×šÝ—ł—ćI= Č= −þŠ—ÝČć= Ł—×³= ðþŽÞþ›= ÝćŠ¦Þ¦I= −þŁ˛Ž˛ć=

ðþŽÞ³= ×šÝ—ł—ćI=ğþ= ³²Łš×ŠŽ³ÿ= ¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦K= ˝ðğþ=²¦= Ł—×¦Ğ= ³=

flþł˛I= ¹²Łþ×šÞþłþ= ÝćŠşý¦I= ğþˇ= Þš= −þ₣³Ł˛²¦¹Č= ˇšž¹¦Ý¦ý¦= ²˛=

¹˛ýþ²Þ—ý¦= ¥= Č= Ł—×ć= ²þˇ—I= þ²ŽšI= Ł—×ć= ³= flþł˛= ×˛žþý= ž= ²þˇþć= —= ²˛ð=

³²Łš×ŠŽ³ć=Ł—×³=Ł=Þ˛ÐŁ¦ğ³=¾—ÞÞ—¹²ş=ÝćŠ¦Þ¦I=²Łþ×ć=Šþˇ×þK=

fl³ŠşJČð˛=½þ×ý˛=Ł—×¦I=¹²Łþ×šÞ˛=ŠÝČ=³²Łš×ŠŽšÞÞČ=Šþˇ×˛=¥=¾š=ýþČ=

Ł—×˛K= flþ= Č= Ł—×ć= ³= Þ˛ÐŁ¦ğ³= ¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦= ¥= ðþŽÞþ›= ÝćŠ¦Þ¦K==============

˝= Ł—×ć= ÝćŠČý= —= Ł—×ć= Ł= ÝćŠšÐK= –= Č= Ł—×ćI= ğþ= Ł—×˛= ³= ˇ³ŠşJČð—Ð= ½þ×ý—=

Þ˛¹²—Ýşð¦=¹¦ÝşÞ˛I=Þ˛¹ð—Ýşð¦=¹¦ÝşÞþ=ÝćŠ¦=Ł—×Č²ş=³=¹šˇšK=

˝= Ğ˛Þ³ć= ¾šÐ= ¹¦ýŁþÝ= Ł—×¦= —= Ł—Š= ğ¦×þłþ= ¹š×¾Č= Š˛×³ć= Ðþłþ=

ðþŽÞþý³I= ğþˇ= ÝćŠ¦= −þ₣³Ý¦= ¹Łþć= Š³Ğ³I= ³¹Ł—Šþý¦Ý¦= Þ˛ÐŁ¦ğ³=

¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦= —= −þ¹ý—¼Þ³Ý¦¹ČI= Ł—Š₣³ŁĞ¦= ¹ý˛ð= ŁþÝ—= ²˛=ý³Š×þ¹²—K=

ÔšÞ¹=Ž¦²²Č=ÝćŠ¦Þ¦=³=×þžŁ¦²ð³I=−—žÞ˛ÞÞ—=²˛=²Łþ×šÞÞ—I=³=−×˛łÞšÞÞ—=

Šþˇ×˛=²˛=ˇþ×þ²şˇ—=ž˛=Šþˇ×þI=—=²˛ð¦Ð=Ž¦²²ÿŁ¦Ð=ĞÝČ¼=ŁšŠš=Šþ=ğ˛¹²ČK=

Ìþ₣˛²þð= ðþŽÞþłþ= Ž¦²²ÿŁþłþ= ¾¦ðÝ³= ¥= ¹ŁČ²þI= ł—ŠÞš= ²þłþI= ğþˇ=

−þŠ˛×³Ł˛²¦= ÝćŠČý= ¾šÐ= ¹¦ýŁþÝ= Ł—×¦= Ł= Þ˛ÐŁ¦ğ³= ¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦K==============

fi=Ł=ð—Þ¾—=Ž¦²²ÿŁþłþ=¾¦ðÝ³=¹Ý—Š=žł˛Š˛²¦I=Čð=Ž¦²²Č=³²Łš×ŠŽ³Ł˛Ýþ=

Ł—×³= Ł= Þ˛ÐŁ¦ğ³= ¾—ÞÞ—¹²ş= ÝćŠ¦Þ¦I= ž˛ð˛×ˇ³Ł˛²¦= ¾š= Ł= −˛ý’Č²—= Ð= Þš=

ž˛ˇ³Ł˛²¦=Þ—ðþÝ¦=ŽþŠÞ³=Šþˇ×³=Š³Ğ³=²˛=ŽþŠÞ³=Šþˇ×³=¹−×˛Ł³K=


